ATLAS SCT Scan Comparison - log scale

Run 1490 Scan 3 Module 0 Stream O (Projection of ch 0 to ch 767) vs

Run 1490 Scan 3 Module 0 Stream 1 (Projection of ch 0 to ch 767)

Module 0 Stream 0 THRESHOLD (mV) Scan

—~ 20U~

200

THRESHOLD (mV

150

100 200 300 400

500 0 700
Channel Number

10

16

10

Module 0 Stream 0 THRESHOLD (mV) Scan

3

=
o

Log(occupancy)

N

iy
o

10

0 50 100 150

200 250
THRESHOLD (mV)

Module 0 Stream 1 THRESHOLD (mV) Scan

— 2zoU—

200

THRESHOLD (mV

e S ]
= j‘? -

100

50

100 200 300 400

7
500 600 Channel (l)\?umber

%

10

16

10

Module 0 Stream 1 THRESHOLD (mV) Scan

w

(LN
o
N

Log(occ'_‘upancy)
o

=
o

2 2
THRESMOLD (mV)5 0




